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2. The average number of yards gained by a college football team on a passing play is
8+12r, where r is the fraction of their total plays that are running plays. Their
average gain per running play is 10-8~.

(1) What is their optimal fraction of running plays? (10%)
(2) At this value of , what is the average gain per pass? The average gain per run?
(10%)

3. A monopolist’s price is $10. At this price the absolute value of the elasticity of
demand is 2. What is the monopolist’s marginal cost? (10%)
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(1) Consider two economies that are identical, with the exception that one has a high
marginal propensity to consume (MPC) and one has a low MPC. If the money supply
is increased by the same amount in each economy, the high MPC economy will

experience a larger increase in output and a smaller decrease in the interest rate.

(2) If the interest rate is lower in the US than in the UK, then the pound is expected to

appreciate with respect to the dollar.

(3) An increase in the money supply and a drop in consumer confidence will lead to

an increase in output and a decrease in the interest rate.
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5. Assume that the economy is at a point such that the unemployment rate is equal to
the natural rate of unemployment. If the central bank carries out a monetary
contraction, what happens to the output, price level, and interest rate in the short

run and the longrun. (i» %)

6. Suppose the economy is at a point where the output is below the potential output.
If the price of oil increases sharply, what happens to the price level, output,

investment, and consumption in the short run and long run? [ (05
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